FROEERET+ATSAR— Y AEERHES

1 EEEH
B R R R FRIORADHFROIORET (B - RBXFESHET)
K 8 H SAS4EEE(ELRBOBARES) 1252884581 548%T
BERAEIL. ARBEMD 1 BEGICHL. (A~T1X3
A—F—Y3y, B-KMAFR20—F—=Y3ET3) 5~
AREH | 6gToo—F—vas#Be L. BBEKE. ATH18
BREELT .
™ HEWA 0% R A
8 B & w14
N 8 & & #l14
B-®A & ﬂ1%
E £ BRI ER
8 £ | LWE HER C: 3
B = | .
3
2 NXPESE
™ MFDEBY

3 BxHEtEE
MFEDELY

4 BRFREXBFETXFRE R
AMHFRDEEY



TREERRTHETIBR R — Y ARE T ELHES

 |FRES| TR | EH | SAR R T
-max| &% sm| 40A| 920,000 164,000 756,000
2%;” 27= |_max| &4F 4|  40A| 920,000 164,000 756, 000
2 R—UEFAR |—MEE| 95 1@| 40A| 50,000 50,000 0
hTERERS | —MEE] W 1@| 20A| 40,0000 30,000 10,000
A @ A 0
@ & 0
= A 0
= X 0
=] A 0
= & 0
@ A 0
~
@ A 0
& A 0
B A 0
(@] A 0
& A 0
B A 0
Bl A 0
8 1,930,000] 408, 000|1, 522, 000




EHOEERET+ETBAR—YRENEZFES
P — = CIvE )]
IIRA DR E3:T REB £ 5 &
mEEH 6, 237, 000 6, 237, 000
FIRASSINA 0
[(ZDHBERA 1, 552, 000 | 1,552,000
5t 7,789, 000 0] 7. 789, 000
— = ({2 )
X H DFEB %ﬁﬁ REE = 5l i =
AR 3, 846, 000 0| 3, 846, 000
Ha 3, 696, 000 3, 696, 000
HERBRES 0
'5E 0
Zoftt B#FLUE) 150, 000 150, 000
% 362, 900 0 362, 900
"B 40, 000 40, 000
SHE LS 60, 000 60, 000
B8 50, 000 50, 000
EEEES 0 0
@R 84, 000 84000
BRNRUHEEE 0
AR 60, 000 60, 000
REBAR 0
HiRE 32, 900 32, 900
BiER 0
FHE 36, 000 36, 000
|(ZEDhER ) ) 0
HER 1,522, 000 0[ 1,522, 000
BXEER 1,522, 000 1,522, 000
DRI KR) F-HER 0
R 1, 330, 000 0] 1,330, 000
[ERAKE 672, 000 0 672, 000
BR 600, 000 600, 000
H X 0 0
7K 72, 000 72, 000
EER 60, 000 60, 000
BHERER 598, 000 0 598, 000
BEY - BiEEHAR 100, 000 100, 000
EHFR 250, 000 250, 000
b2kl ] 120, 000 120, 000
Hr—R—h—5— 19, 000 19, 000
BELEUBRAR 0
EKE - AEEEE 90, 000 90, 000
BREE 0
SR 0
B#HE7 0
SHPE R 19, 000 19, 000
HABRMRER 0
%Emﬁiﬁ 0
KERE 0
EREER 0
TOHELE 0
EX3 0 0
AFHLE CERE) 336, 000 336, 000
—— XN E 0
ERER 392, 100 392100
ki 7. 789, 000 0[ 7, 789, 000




